ﬂAﬂ-- wic M)

%%2 Lot U") %y\) wae_ W‘fcl{ Ar“
o J
o, isolp e 4,»_1‘7b/ Live
Question 2 of 9 pM
Find all points on the graph of 3x> + 6y* + ;;: 64 where the tangent line is horizontal. AN X+ 1Y - Q‘f‘J 2 ( 4 X_cl‘ﬂ —
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(Give your answer as a comma-separated list of points in the form (*,*). Express numbers in exact form. Use symbolic notation -, = . = _
and fractions where needed.) SES I > L}_ “ K
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A 5-m ladder leans against a wall. Assume the bottom slides away from the wall at a rate of 0.9 m/s.
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The variable 4 is the height of the ladder’s top at time #, and x is the distance from the wall to the ladder’s bottom. ¢ 3 ’(t 3
Find the velocity of the top of the ladder atf = 2 sm
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A conical tank has height 3 m and radius 2 m at the base. Water flows in at a rate of 2 m*/min.

\(= Total Vol — T EV"KJ"H Caver

How fast is the water level rising when the level is 1 m and when the level is 1.9 m?

(Use decimal notation. Give your answers to four decimal places.)
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